bbeqption of Tromenetic. Functiors

Ex: Show -Haat

a) (‘SM_FZ_dz_%_CQS‘lD‘x +C

b) (‘CQS'FZL"F sin px C




. j\sin'Fx cos qx dx |, j\sin'Fx sivx?xdx , JCost cos C(xdx

Recall : sin P cos g = —L-[sin (prq+ Sinep-qrx]
Cos P o5 g = T‘Eas(P«Px + c»s(F-cl)x]
Sin px. sin g = __{Emsc?“()x -Cos (F-cl)x]
We know lhow o M&eﬁmee RHS !

eﬂ. \f Sin 5% cos 3x adx
=%J' Sin &+ sindx o
| Cos X
=5(_ x_?x) +C

_ _Cos& _ Cos 2%
= T3 & +C




i Farﬁmlar, Cos‘Px =L (1+cos '2‘Fx)
Sin‘-Fx = -7‘_— (1-cos 2px.)

2.3. j'Cosx. cos™3x o
=Icosx —__‘l(l+cos6x.)]dx
=.J)_-JCosxdx+4)_-ICosxcos6xe|x

=42-fc<>sx = +{l_-fcos?x+Cos5-x.dx

__Si ] in Sx
_§J§_1-+—$-ﬂ,238"‘—+—§'—,° +C

Ex: Find J‘ Sin % Sin 2% sin 6= dx

. coslox, cos2x _ coS8x _ cos 4x
AV\S : SW+_°1— o T+C



. j Sin"x cos™x dx
Case |: m is odd
AW“E\ : Sinxcdx = -deosx  and  sin*x = |-cos™x
eﬂ. Jlsin!”x cos™x o
=J‘ Sinx Sinx cosx o
= -f Sinx cosx d cosx
N -S' (1-cos™x) cos™x dessx

=j- Cos'x +costx dcosx

3 S



Cose 2: n is odd




Case 3: m and n are even.
Aﬂ:ha : Sinx = "C+2* , cos'x = “c+2" ., Sinx cosx =4 Sin2x
e.ﬂ. \Y Sinx cost« o
. 2 2
= | (sinxcosx) cos™x de

[ siPae) (o520 ) o

= é-fsin’zx&z +—§-J'sin’1x cos dx dx P reduce to case |

\ Case 3 aﬂaiv\

- -,-'gjl (- cos dx o + Jg-fsin‘n L dsinax
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. J‘Ean"’x sec™x o
Case |: m is okl
P\?F\\az tanxsecx dx=dsecx and o = (-sec’x
eq [adx secx o
=J' +tartx tanx sec’x secx ok
- [ tatx sex dsecx
=f (sedx - 1) sedx dsecx

=J secPx - sec’x dsecx

=gssx _SeC:x +C



Case 2: n is even
Similar +to cose |
Pr‘;?ha : secx dx edtanx and  sedx = l+tanx
Ex: [ tonc secx dx
s I tantx sec’x sedx

=J. “tantx ((++ai) dtanc
= %—-}i@}l.}(‘_

Case 3: m is even and n is odd
Usivxj iv\'ﬁ%rottion bn 'Faw{:s . later 2



Ex: Fnd

+C

1 a) [escbreottede  Ans. -Sgx . 2cotlx
9 &

_ cot®x
5

b) Icsc.s_x_cu:(':zd:n—q--9§é—"+%s-+c




